Ratio to ATLAS

10

1072

1073

107

107

[EEY

0.5

Rivet 3.1.10, = 1.5M events

7000 GeV pp Soft QCD
— T I T I T I T I T | T I T I T I I T | '_:
E Multiplicity )\_OO (charged only) (track jets) E
_ Ny
—  m  ATLAS N |
=— —4A— Pythia 6.428 370 ) N —=
—  --o-- Pythia 6.428 atlas-csc *5\\ =
~  --+-- Pythia 6.428 dét \ :
L Pythia 6.428 default \‘\\\\ B
= --v-- Pythia 6.428 dw N
~ —o— Pythia 6.428 p0 i 3
SN | | | | | | | | | 3
g E
- E
0

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


